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Question 1
Question Type: MultipleChoice

As shown in the figure below, which port of the following switches will be blocked?

Options: 
A) SWC's G0/0/2

B) G0/0/3 of SWA

C) G0/0/3 of SWB

D) SWC's G0/0/1

Answer: 
D

Question 2
Question Type: MultipleChoice



What are the characteristics of VLAN based on ports?

Options: 
A) The moving position of the host needs to reconfigure the VLAN

B) Add VLAN tags to the data frame according to the IP address carried in the message

C) Do not need to reconfigure the host moving position

D) Assign VLAN ID according to the protocol type and encapsulation format of the data frame

Answer: 
A

Question 3
Question Type: MultipleChoice

If the Ethernet data frame Length/Type=0x0806, which of the following statements is correct?



Options: 
A) This data frame is an IEEE802.3 frame

B) The destination MAC address of this data frame may be FFFF-FFFF-FFFFF

C) The source MAC address of this data frame must not be FFFF-FFFF-FFFFF

D) This data frame is EthernetII frame

Answer: 
B, C, D

Question 4
Question Type: MultipleChoice

VLAN4095 cannot be created on Huawei switches, and VLAN1 cannot be deleted.

Options: 
A) True



B) False

Answer: 
A

Question 5
Question Type: MultipleChoice

The function of OSPF's hello message is ().

Options: 
A) Update LSA information

B) Maintain neighbor relations

C) Neighbor Discovery

D) Synchronize router LSDB

Answer: 



B, C

Question 6
Question Type: MultipleChoice

A company applies for a Class C IP address segment, but it must be allocated to 6 subsidiaries. The largest subsidiary has 26

computers. Different subsidiaries must be in different network segments. The

netmask should be set to ().

Options: 
A) 255.255.255.224

B) 255.255.255.128

C) 255.255.255.0

D) 255.255.255.192

Answer: 
A



Question 7
Question Type: MultipleChoice

By default, what is the RouterDeadInterval of the OSPF protocol on the broadcast network?

Options: 
A) 30s

B) 20s

C) 40s

D) 10s

Answer: 
C
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